% WMJI?/ POLS P20 —

ﬁeoeé% e 5.

/;Q’Oﬂ?ﬁm /7
Hored e sestie opeodo ﬁﬂ/wf‘?’
2R OOLEr72

ﬂ Yoz’ 23"
7%% (LS 7 %wﬁﬂ-&daflz@

Foako.

Fucd ol Gy e
2, Waﬂwﬁ& btz %%WC%&& ﬁgfﬂ}"’/f}/c:{)

go e 4 Fngppn
/W > %j’” MM é{’/ %ﬁat’fﬁé{o tye .ﬁaﬁ&a%mﬁ?
CUCHIULA2r0 W»fvzf«&m Wv‘

gﬂwﬁ% 1P (3#;1(’(’(’%4077{/’&.& 272 /o s
Jt’aym jzo RO,
/%oyw /9 WM}(‘/ »z@/af%/ ueee -
/ﬂ:é’Mﬁ /&C&W/m 0o code A
/4-4& 77 %Wﬁ /’fw&'%{/ f%’flﬁ{_’, ez a{)@zz/—

CULCHLAL /ﬁzzyg

X)pqumoxc, COrze L, »62'% O Ma’w Y2 =

/"(/0 ~ ooz p _,Wdc::, . = :g,-,,_ el @b a il

77 e lgpe grat s /707 d;



